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GQW Company assembled the following information in completing its June bank recenciliation: balance
per bank HK$21,460; outstanding checks HK$12,325; deposits in transit HK$13,750; NSF check
HK$2,240; bank service charge HK$85; cash balance per books HK$25,210. As a result of this
reconciliation, GQW will

a. reduce its cash account by HK $2,325.

b. increase its cash account by HK $1,425__ e,

c. increase its cash account by HK $2,240b\

d. reduce its cash account by HK $3'(!50 B\
e. None of above P

INE TS BEHEE
Bertram Company assembled the following information in completing its May bank
reconciliation: balance per bank £23,460 outstanding checks £5,325; deposits in transit
£3,750; NSF check £2,040; bank service charge £75; cash balance per books £24,000. As a
result of this reconciliation, Bertram will
a. reduce its cash account by £75.
b. reduce its cash account by £2,115.

o

increase its cash account by £1,575.

A~

increase its cash account by £540.

Asset turnover measures

how often a company replaces its assets.

the portion of the assets that have been financed by creditors.
how quickly a company sells its assets.

how efficiently a company uses its assets to generate sales.
the overall rate of return on assets.

None of above
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5. JPE Market had the following transat
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. Acquired an investy
What is the net cash provige
$52,000
$99,000
$55,000
$35,000
. None of above
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10. Joy Elle’s Vegetable Market had the following transactions during 2020:

Tssued $100,000 of par value ordinary shares for cash.
Fepaid a 6 vear note payable in the amount of $44,000.
Acquired land by issuing ordinary shares of par value $200.000.
Declared and paid a cash dividend of $4.000.
Sold a non-current investment (cost $84,000) for cash of $12.000.
Acquired an investment in Apple shares for cash of $24 000

What is the net cash provided by financing activities?

{A) $52.000

(B) $100.000

(C) $56.000

(D) $36.000 A
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6. If accounts payable have decreased during a period,
a. revenues on an accrual basis are less than revenues on a cash basis.
b. expenses on an accrual basis are less than expenses on a cash basis.
c. expenses on an accrual basis are greater than expenses on a cash basis.
d. expenses on an accrual basis are the same as expenses on a cash basis
e. None of above.
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The effect of the declaratiga@

Increase
Equity
Liabilities
Assets
Liabilities
None of abov
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9. The statement that "Bond pﬁoesvarhr?arwﬂhchangeslnt'nmarket interest rate" means that if the
a. market interest rate inareases, the contre : will decrease

b. market interest rate deche =88, then bor
c. contractual interest rate incre® nd p osswuwdown

d. contractual interest rate increases, the market interest rate will decrease.

e. None of above
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amount'or $78,200. In the June, checks in the
d\ecks wére presented to the bank for payment,

12.  In the month of May, FFF{:mdm t
amount of $70,000 were writien Q@,of

and $64,000 in June.

What is the amount of outstanding checks at the end of May?
CHF10,200.

CHF®6,200,

CHF4,200.

CHF8,000.
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[#3{5]] The cash records of Norris Company show the following:

1. The June 30 bank reconciliation indicated that deposits in transit totaled $390.
During July the general ledger account Cash shows deposits of $9.800. but the
bank statement indicates that only $9.240 in deposits were received during the
month.

2. The June 30 bank reconciliation also reported outstanding checks of $800. During
the month of July, Norris Company books show that $11,070 of checks were
issued. yet the bank statement showed that $11.100 of checks cleared the bank in
July.

Required:

(a) What were the deposits in transit at July 31?

(b) What were the outstanding checks at July 31? [EcAEsEt]

fife

(a) 390+ 9,800 —9,240=$950
(b) 800+11.070—11.100=%770

AABY Company reported retained earnings at December 31, 2019, of $530,000. AABY had 120,000 ordinary
shares outstanding throughout 2020.
The following transactions occurred during 2020.
1. Net income was $250,000.
2. A cash dividend of $0.50 per share was declared-andpaid,
3. A 10% share dividend was declared and dietriputed whenithe market price per share was $15 per share.

Instructions
Prepare a retained earnings statément for 2020_("Show all compuiations.)
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[#3{7%]] On January 1. 2020, Behest Corporation had Retained Earnings of
$400.000. During the year, Catlin had the following selected transactions:

1. Declared stock dividends of $50.,000.
Declared cash dividends of $90.000.

[ B]

3. A 2 for | stock split involving the issuance of 200,000 shares of $5 par value
common stock for ]bD.ODD shares of $10 par value common stock.

4. Suffered a net loss of $70.000.

5. Corrected understatement of 2019 net income because of an inventory error of
$48.000.

Instructions

Prepare a retained earnings statement for the year.

[




Behest Corporation

Retained Eamnings Statement

For the Year Ended December 31. 2020

Balance, January 1. as reported
Correction for understatement of 2019 net income
Balance, January 1. as adjusted

Less: Netloss

Less: Cash dividends
Stock dividends

$400.000
48.000
448.000
(70.000)
378,000
$90.000
50.000 _(140.000)

Balance. December 31

§ 238.000



